Rl 1IARM EBHREEEA LD Y Ro[L 110~ GRVARD
HxtsEE  0.15 [mm]
= = ; AE BRE 44 k) EREBEACER R ER &R
No. X = E3E) AALn
o B M e 5 "R [m¥/h] [m/s] A% %8  {&# [Pa/m] [m] [Pa] [Pa] L
[ 111 ~2 AFT— K 50.0 85.9
[ 2] [ ARES 1000 5.7 250 64 50 8.2
— o
[ 3] % AR E (Ff) 1000 5.7 250 0.22 4.3
( R=250 ) .96
[ 4] % ARzt TR 1000 5.7 250 1.2 23.4
( 6=9 ) .96
[ 513 ~4 — ApES 1000 5.7 250 6412.0 19.7 23.4
.96
[ 6] ‘ Hori— (MR : — R 1000 5.7 250 0.19 3.7
1 Cleso ) v
[ 714 ~5 @ AREASE (EEE) 750 4.3 250 0.02 0.4 1.4
.96
[ 8] n FAREE 750 4.3 250 97 1.0 1.0
— o6
[ 915 ~6 E}:jﬂﬁ?;iﬁﬁﬁ/l\ 750 6.7 200 0.2 2.2 34.5
( 6=30 ) .96
[ 10] T ArES 750 6.7 200 94 11.0 32.3
.96
[ 1116 ~7 @ 77 -1 ) 500 4.5 200 0.06 1.6 3.0
.96
[ 12]  ARES 500 4.5 200 39 1.0 1.4
— o
[ 1317 ~8 [EHO=E N 500 7.7 150 1 12.2 726
==
[ 14] n AR ES 500 7.7 150 49 11.0 60.4
= o
[ 1518 ~9 @ FIRSFSEEE Loy (S50 250 3.9 150 0.84 29.9 77.2
.96
[ 16] f TLESIILEY b 250 3.9 150 4.9
(R= 150 6=135) .96
250 5.8 150 2.1 42.4

17 SI—1\—
[ 17] {,? ARzIL—

(BHEEEE=0.7)
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EHMERNRHERTE R | ARM_IBMIEEEALHY (170
" AE |[BE| 40 btk (o] @R Binin| Ein
X Ed = A2 -
XA E % i /h] | [n/s)| FIF P (] HEEEH RS (Pa/m] | [Pal s &
1 ~2 | AFI7—F 50.0
MAFEE 1000| 5.7| 250 0.049 5K = 5.0 1.64 8.2
L
AR R (Ed2) 1000| 5.7| 250 0.049/R/d = 1 0.22 4. 3| R=250
FRZ=FTILR 1000| 5.7| 250 0.049| 6 = 90 1.2 23.4
3 ~4 MHREE 1000| 5.7| 250 0.049| K = 12.0 1.64 19.7
=
Fri— (P . —HCPIR) 1000| 5.7| 250 0.049| 6 = 0 0.19 3.7
4 ~5 MAMEAME (EHED 1] 1000 5.7| 250 0.049|v2/vl = 0.75| 0.02 0.4
@ 2 750 | 4.3| 250 0.049
AESE 750 | 4.3| 250 0.049 & = 1.0 0.97 1.0
5 ~6 |MfiEieE 1 750 4.3| 250 0.049/A1/A2 = 1.56 0.2 2.2
Bj 2 750 | 6.7| 200 0.031| 6 = 30
AESE 750 6.7| 200 0.031 &K = 11.0 2.94 32.3
)
6 ~7 |5 ik (EEE) 1 750 6.7| 200 0.031|v2/vl = 0.67| 0.06 1.6
@ 2 500| 4.5| 200 0. 031
AES 500 4.5| 200 0.0311 &K = 1.0 1.39 1.4
1 ~8 M2 1 500 4.5| 200 0.031/A1/A2 = 1.78 1 12.2
E}b 2 500| 7.7| 150 0.018
APEE 500 7.7| 150 0.018| & = 11.0 5.49 60. 4
8 ~9 |FHMStERH Lo (55%MED 1 500| 7.7| 150 0.018v3/vl = 0.51 0.84 29.9
@ 3 250| 3.9| 150 0.018
2LEIINEY k 250| 3.9| 150 0.018| le/d = 17.36 4.9/ R=150
f R/d = 1 6=135
AR IL—s\— 250| 5.8| 150 0.018| EEEF&ELL=0.7 2.1 42.4
%y
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85 FEWHE | D0 REH R | ARG EREEEANSY R R semen C1n
g Rz 24 rts - EA R PR | EE e
1o B = BR BRI gy REERERGT BRI s
1 ~2 |A7—F 50.0 85.9
AEE 1000 5.7| 250 1.64 | 5.0 8.2
AR K (Ff) 1000| 5.7, 250 0.22 4.3 R=250
ARt TILR 1000 5.7| 250 1.2 23.4 6=90
3 ~4 MAWMEE 1000 5.7| 250 1.64 |12.0 19.7) 23.4
F— (A . —HCPIR) 1000| 5.7| 250 0.19 3.7 6=0
4 ~5 MEREAMNE (EEED 750 5.7| 250 0.02 0.4 1.4
MAESE 750| 4.3| 250 0.97 | 1.0 1.0
5 ~6 |MfsiEhE 750| 4.3| 200 0.2 2.2 34.5| 6=30
MAESE 750| 6.7, 200 2.94 |11.0 32.3
6 ~7 |FARAS ik (EEE) 500/ 6.7| 200 0.06 1.6 3.0
MAESE 500/ 4.5 200 1.39 | 1.0 1.4
1 ~8 |AREHEN 500{ 4.5| 150 1 12.2 72.6
AEE 500/ 7.7 150 5.49 [11.0 60. 4
8 ~9 MM Lo (S5%ED 250 7.7| 150 0.84 29.9 71.2
JLEIITNEY 250 3.9] 150 4.9 R=150, 6=135
ARz IL—s\— 250 5.8] 150 2.1 42.4 BH®m&ELL=0.7
H R’ [Pa] 298.0
% " ® % K 110
% P4 23 #n R1=K-+*R’ [Pa] 327.8
z B H i I8 R2 [Pa] 120.0
& & I8 R =R1+R2 [Pa] 447.8
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85 FEWHE | D0 REH R | ARG EREEEANSY R R semen C1n
= m&| 575 h: i e | PE | BE s
1 ~2 |A7—F 50.0 85.9
AEE 1000 5.7| 250 1.64 | 5.0 8.2
AR K (Ff) 1000| 5.7, 250 0.22 4.3 R=250
ARt TILR 1000 5.7| 250 1.2 23.4 6=90
3 ~4 MAWMEE 1000 5.7| 250 1.64 |12.0 19.7) 23.4
F— (A . —HCPIR) 1000| 5.7| 250 0.19 3.7 6=0
4 ~5 MEREAMNE (EEED 750 5.7| 250 0.02 0.4 1.4
MAESE 750| 4.3| 250 0.97 | 1.0 1.0
5 ~6 |MfsiEhE 750| 4.3| 200 0.2 2.2 34.5| 6=30
MAESE 750| 6.7| 200 2.94 |11.0 32.3
6 ~7 |FARAS ik (EEE) 500/ 6.7| 200 0.06 1.6 3.0
MAESE 500/ 4.5 200 1.39 | 1.0 1.4
1 ~8 |AREHEN 500 4.5| 150 1 12.2 72.6
AEE 500/ 7.7 150 5.49 [11.0 60. 4
8 ~9 MM Lo (S5%ED 250 7.7| 150 0.84 29.9 71.2
JLEIITNEY 250 3.9] 150 4.9 R=150, 6=135
ARz IL—s\— 250 5.8] 150 2.1 42.4 BH®m&ELL=0.7
P P, [Pal 298.0
m B B E 5 B % sp [Pl 120.0
% i 3 = £ P, = 3P, +Z P, [Pa] 418.0
2 R B % o® B OF s [Pl 50.0
3 A B £ P,= P, — P, [Pa] 368.0
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